50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.
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17CS34

Third Semester B.E. Degree Exami ation, Jan./Feb. 2023
Computer Org: ation

ax. Marks: 100

T
Note: Answer any FIVE full quest;org&%@oosmg ONE full queig:x from each module.

2 '
a. Explain with a neat dlagTam, the connection between the processor and the computer

memory. (05 Marks)
. Explain the basic mstmchon types with example.™ (05 Marks)
c. Define addressmgL mode Explain the vanous addressing mode with example. (10 Marks)
)"-j *’w:?@
. %@v
a. Explain the methods to improve the performance of computer. (05 Marks)
b. Explam Blg-End1an, little — Endian. and‘"‘assignment byte addressability. (05 Marks)
e. Pomt out various shifts and rotate msh*uctlon and examp Ith neat diagram. (10 Marks)
v Module-2 %}
Define bus arbitration. Explz m‘?detaﬂ any one a w f bus arblt (10 Marks)
‘What Ts*In‘termptb’? Exp terrupt prlonty sch Lo — {05 Marks)
c. What is DMA? Write afidte on register in Bm mterface RO, ; (05 Marks)
:-'?f? i :,
DI am&éi:ﬁ

a. With a block dlagram, explain how the: ter interfaced tO processor. (10 Marks)

b. Explain the following with respectt tﬁ 4

i)  U.S.B#Architecture -
i)  U.S:B. protocols. (10 Marks)
R Module-3*
a. sEx;ﬁam synchronous DRAMS with a blockdiagram. (05 Marks)
b.““Define ROM. Explain Various types of R@MS (05 Marks)
eé%th a neat dlagjt‘am,, explain the mtemal orga.mzatlon of a 2M x 8 dynamic memory chip.
" (10 Marks)
"ii?%
" or
a. Explain m‘ detail. Associativer mapping technique and set associative mapping technique
with neat diagram. _— (10 Marks)
b. What is virtual memoig? “With a neat diagram, explain how virtual memory address is
translated. (10 Marks)
 1of2
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Module-4
Perform following operations on the 5-bit signed mumbers using 2’s complement
representation system. Also indicate whether overﬂovt%s sécurred.
1) (-9) + (-7) i) — (-8) : (05 Marks)
Explain with a neat diagram, 4 bit carry look ahe ‘ad der. (05 Marks)
ultiplication operation. M x Q = P for

(10 Marks)
5 f'%
W* ’
Multiply the following signed %%‘mplement members usni“g Booth’s algorithm,
multiplicand = (010111),, multip (110110)2. (05 Marks)
Perform division operation on lowing unsigned nu%nﬁ%jrs using the restoring method.
Dividend = (10101);, Dmso 00),. ) (05 Marks)
With a neat diagram, expla floating point addltlon/ sgabtractlon unit. (10 Marks)

;@;@w
Module-5 ~ .

and write the control sequence for the

instruction add R Rs for the multiple bus organization. (10 Marks)
Explain with né @gram, micro progranxm@ control method for design of control unit and
write the microsfoutine for the mstrucno@ganch <0. (10 Marks)

)

OR
_ .»ai in an embedded system.

(10 Marks)
(10 Marks)

Wit



